	5.65
	5.44
	5.42
	5.40
	5.53
	5.34
	5.54
	5.45
	5.52
	5.41

	5.57
	5.40
	5.53
	5.54
	5.55
	5.62
	5.56
	5.46
	5.44
	5.51

	5.47
	5.40
	5.47
	5.61
	5.53
	5.32
	5.67
	5.29
	5.49
	5.55

	5.77
	5.57
	5.42
	5.58
	5.58
	5.50
	5.32
	5.50
	5.53
	5.58

	5.61
	5.45
	5.44
	5.25
	5.56
	5.63
	5.50
	5.57
	5.67
	5.36


a.  Compute the arithmetic mean and median.









b.  Compute the first quartile and third quartile.









c.  Compute the range, inter-quartile range, variance, standard deviation, and coefficient of   

     variation.













d.  Interpret the measures of central tendency within the context of this problem.  Why should the  

     company producing the tea bags be concerned abbut the central tendency?





e.  Interpret the measures of variation within the context of this problem.  Why should the 

     company producing the tea bags be concerned about variation?






f.  Construct a box-and-whisker plot.










g.  Are the data skewed?  If so, how.










h.  Is the company meeting the requirement set forth on the label that, on average, there are 5.5 grams of tea in a bag?












i.  If you were in charge of this process, what changes, if any, would you try to make concerning the distribution of weights in the individual bags?
